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Primary (6)

Math Test

Diagnostic Mathematics Test for Primary 6



Math test for grade “6”.

5 oY) el Caall g s el (gl b il el Cilisman aass Y ) lasY) Cang,

ccall Jaly alal) dlluast Gilgis o il Ll Gal Las¥) 13 clag G Ao

ol il Al e LasY) pals
(55) JkaaY) Akl axe e b
Aaia (12) A laay) of sk

ALY 489 8 dilay)

a2 Bagia 2a g

Lolall A 223l e ¥

cladedl aly Jis 18

e e LAA) e plaaY) bl g

Al s L Lgie Baalg Lilaf (a-b-c—d) chla af Jsu
Aaanall LY Gy s & pads g Tal

sl LS dasaall Ly Jid sl Cial) Jea Bila a o i Giglladl)

Square is a quadrilateral, where

N\

a) Each two
opposite sides

are equal.

b) Only two
opposite sides
are parallel,

and not equal.

c) Four equal
sides and their
angles are not

right.

d)

our equal
sides, and four

right angles.

e Example: Write your basic data in this table:

Basic data to be filled in with the student’s knowledge and the teacher’s note.

Student’ name:

The country:

School name:

Application date:




Mathematics’ test for grade “6”

Choose the correct answer by circling the letter that represents the
right answer.

l) The number (213 056 700) written in letters is as follows:

a) Two hundred thirteen, fifty— six seven hundred.

b) Two hundred thirteen million, fifty— six thousand seven hundred.

c) Two hundred thirteen million thousand, fifty— six seven hundred.

d) Two hundred thirteen, fifty— six hundred seven hundred.

)
)
)
)

2) Write the missing number:

a) 7 b) 70 c) 700 d) 7000.

3) If (the shaded circle is 1). Choose the best decimal number for the colored parts:

80

a) 1.2 b) 2.2 c)2.4 d) 10.2

4) The place value of the underlined digit (18 706 421) is:

a) 7 b) 70 c) 700 d) 700000




5) The even number is:

a) 2 066 641 b) 660 083 c)373 112 d) 1101 111
6) The point B on numerical axis represents the number:
€ $ $ $ >1
55 60 75 80
B A
a) 5 b) 65 c) 70 d) 115
7) The greatest number is:
(7294 218/ 791 820/ 9277152 2977152)
a) 791 820 b) 7 294 218 c) 2977 152 d) 9 277 152
8) Arrange the numbers in an increasing order:
(6984218/ 791 820/ 8 327 152/ 8 307 152)
. 791820/ 8327152/ 6984218/ 8307152 b. 791820/ 6984218/ 8307152/ 8327152
. 791820/ 8307152/ 8327152/ 6984218 d. 8327152/ 8307152/ 6984218/ 791820
9) The operation that represents the document below is:
o fo Bo B0 H6
g B0 §HO F6 §6
o D6 56 ©6 88
a) 10+3 b) 13 +5 c) 13 x5 d)13+5




10) The sum is:

2 345 643
+3 432 005
a) 8467775 b) 5777648 ¢) 5777658 d) 7347707
ll) The difference is:
45 716 587
—32404 533
a) 7711110110 b) 13312054 c) 45021331 d) 1223634
12) The product is:
36
X 54

a) 1944 b) 1524 c) 324 d) 3012




13)  The quotient is:

18)5 5 8
- 5 4 |
1
- 1
0
a. 18 b) 31 c) 54 d) 558
14) The remainder of (69 -5 = 13) is.......
a) 1 b) 2 c) 3 d) 4
15) The equivalent fraction of% is:
3 b 3 d 6
D 15 ) 30 93 T
16) The fraction of the decimal number (305.76) is:
30576 305 30576 30576
a) 100 b) 76 c) 1000 d) 10
17) The sum of the two fractions (% + g) is:
2 6 6 8
18) The sum of (% + g) is:
5 6 8 23




19) The difference of the two following fractions ( % — %) is:

a) ¢ b) 7 ) d) 2
20) The difference of the two fractions ( % — %) is:
30 3 3 30
21) The product of the two fractions (g X ;) is:
15 6 14 5
A b) 35 9 1 d %
L : 6 . 2\ ..
22)  The division of the two fractions (2~ 7) is:
42 3 7 12
?) 2 b) 5 ) ) %
23)  The sumof (998.2 +124.9) is:
a) 1123.1 b) 112.31 c) 11231 d) 1.1231
24) The difference of (154.3 - 48.7) is:
a) 114.4 b) 105.6 ¢) 156 d) 156
25) The product of (578.32 x 0.1) is:
a) 57832 b) 578.32 c) 57.832 d) 5783.2




26)
a)

27)

a)
28)

The quotient of (203.4 = 6) is:
3390 b) 33.9 c) 3.39

d) 0.0039

Choose the nearest sum of (4370 + 5390).

9000 b) 9500 c) 10000

d) 11000

Round (27162839) to the nearest million.

a) 27 000 000 b) 27 100 000 c) 27 160 000

d) 27 162 000

29)

The colored part in the figure below is .......

10% b) 20% c) 0.4

0.03=--%

0.3 b) 3 c) 30

The number 78 is divisible by 3, if:

. The tens digit is an odd number.

. The number 78 is an odd number.

The number 78 consists of two digits.

. The sum of its digits is a multiple of 3.



32) Choose the false expression:

a) 36 x17 =17 x 36
b) 36 +17 =17+ 36
c) 36 -17 =46 — 27
d 36+-17=17+36

33) A horse consumes 12 kg per day, how many kilograms does a horse consume per
year? Give the answer to the nearest thousand.

a) 3000 b) 4000 c) 5000 d) 6000

34) 107 students went on a trip by buses to an Arabic city. If you know that one bus
holds 25 students, then the number of buses will be:

a)4 b) 4 approximately c)5 d) 5 approximately
35) Choose the correct time in the two columns:
Clock (2) Clock (1)
Clock (2) Clock (1)
a 10:20 12:40
b 11:20 01:40
c 04:50 08:05
d 04:10 08:04




36) 2 hours =............ minutes.

a) 60 b) 120 c) 3600 d) 7200
37) 5 meter =......... cm.

a) 500 b) 50 c) 5 d) 0.5
38) 1kilogram=........... grams.

a) 0.001 b) 10 c) 100 d) 1000

39) The type of yellow shaded angle is.........

D
a. Straight angle b. Obtuse angle c. Right angle d. Acute angle
40) The parallel lines are in the figure......
a) b) c) d)

/ N
7 -

a) Figure a b) figure b c) figure c d) figure d




41) Specify the nature of this triangle according to its angles?

60O 600
a) Isosceles triangle b) Semi equilateral c) Eaquilateral triangle d) Right triangle.
triangle

42) In this figure the two equal triangles form a big triangle, then the nature of this big
triangle according to its sides is....

a) Equilateral b) Scalene triangle c) Right isosceles d) Isosceles triangle.

triangle. triangle

43)  The nature of quadrilateral is .......

a) Square. b) Rhombus c) Rectangle. d) Parallelogram.




44) Indicate the rhombus among the following shapes?

L L/
Doc (3) Doc (2) Doc (1)
Doc (6] Doc (5) Doc (4)
a) Doc (1) b) Doc (4) c) Doc (3) d) Doc (2)
45) The area of rectangle of dimensions (3 cm, 5cm) is.
a) 8 cm? b) 15 cm? c) 16 cm? d) 64 cm?
46) The area of the shaded part is nearest to.......
| 13 cm I
3cm
7 cm 4 cm
| [— lcm
2cm
a) 100 cm? b) 90 cm? c) 80 cm? d) 70 cm?




47) The radius of a circle of diameter 4.5 cm is equal to.......

a) 2.25cm b) 4.5 cm c)9cm d)9xmcem
48) Segment joining two points on a circle is .......
a) Chord b) Radius c) Diameter d) Tangent.
49) Complete the numerical pattern: (475,500 ,525 ,550 ,.....
a) 555 b) 560 ¢) 570 d) 575
50) Find out the missing number:
850+ 400 = 750 + ......
a) 300 b) 450 ¢) 500 d) 1250
51)  Find out the missing number:
(850 —400 = 750 —....... )
a) 300 b) 450 ¢) 500 d) 1250
52)  Find out the missing number:
(6400 - 80 = 640 ~....)
a) 8000 b) 800 ¢) 80 d) 8




53) Perform according to the priority of calculation:

a) 2 b) 6 c) 7.5 d) 15

54)  Perform according to the priority of calculation:

(15—2X5+5=......... )

a) 70 b) 10 c)5 d) Zero.

55) A square of side x, then its area is:

a) x b) 2x c) 4x d) x?2

Good Luck.

£
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Le carré est un quadrilatére caractérisé par ...............

a) Lescotés b) Seules deux c) Les 4 cotés ( d) ) Les quatre cotés

opposées sont
égales

cOtés sont
paralleles et
égales

sont égales

sont égales et les
quatre angles sont
droites

o Ecrivez vos données dans le tableau suivant:

Les données de base doivent étre renseignées par I’éléve et notées par I’enseignant

Nom de I’éléve Etat

Nom de I’école Date d’application

Choisissez et entourez la bonne réponse.




1) Le nombre 213 056 700 est écrit en lettres comme suit ..........

(a) Deux cent treize cinquante-six et sept cents

(b) Deux cent treize millions, cinquante-six mille et sept cents
(c) Deux cent treize millions, cinquante-six et sept cents

(d) Deux cent treize mille cinquante-six cent sept cents

2) Ecrivez le chiffre manquant dans la zone de couleur:

|

1000

@) 7 (b) 70 (c) 700 (d) 7000

3) Exprimez les parties colorées a I’aide du nombre décimal:

(@) 1,2 (b) 2,2 (c)2,4 (d) 10,2

4) La position du chiffre souligné dans le nombre 18 706 421 est:
@7 (b) 70 (c) 700 (d) 700 000

5) Le nombre pair est:

(a) 2066641 (b) 660083 (c) 373112 (d) 1111011

6) Le point B placé sur la ligne numerigque correspond au nombre:

B A
i i - o> t i t _
55 60 75 80 85
@) 5 (b) 65 (c) 70 (d) 115

7) Le plus grand nombre est: 7294218 / 791820 / 9277152 | 2977152

(a) 791820 (b) 7294218 (c) 2977152 (d) 9277152

8) Rangez par ordre croissant: 6984218 / 791820 / 8327152 / 8307152
(a) 791820 / 8327152 / 6984218 / 8307152




(b) 791820 / 6984218 / 8307152 / 8327152
(c) 791820 / 8307152 / 8327152 / 6984218
(d) 8327152 / 8307152 [/ 6984218 / 791820

9) L’opération qui représente le document ci-dessous est:

aae

-0
10
= G
(@10 + 3 (b) 13+5 (c) 13 x5 (d) 13+5
10) Effectuez: 2 345 643
* 3432005
(a)8 467 775 (b) 5777 648 (c) 5777 658 (d) 7 347 707
11) Effectuez: 45 716 587
32404533
(@) 7 711 110 110 (b) 13 312 054 (c) 45021 331 (d) 1223 634
12) Multipliez: y 36
54
(a) 1944 (b) 1524 (c) 324 (d) 3012
13) Quel est le quotient ? 558118
- 541 31
018
18
00
(a) 18 (b) 31 (c) 54 (d) 558

14) En remarquant que 69 =+ 5 = 13 alors le reste est égale a:




(@)1 (b) 2 (c) 3

(d) 4

. o .3
15) Choisissez la fraction équivalent a 5"

3 3 6 6
@710 (b) 59 ©5 710
16) La fraction décimale du nombre 305,76 est:
30576 305 30576 30576
(8100 (b) 76 (©) 1000 ORET)
. : 2 4
17) Le resultat de la somme des deux fractions ct5 est:
2 6 6 8
@)z (b) 10 © 3 (d) 55
. .3 2
18) Le résultat de la somme des deux fractions 2t 5 est
5 6 8 23
@g (b) g () (d) 50
. : 12
19) Le résultat de la soustraction des deux fractions g g st
5 7 9 5
@5 (b) 5 (©) 15 djg

: .9 6
20) Le résultat de la soustraction des deux fractions 1~ 16 &St

30 3 3 30
@ 16 (b) 15 © 16 @)
2 3
21) Le resultat de la multiplication 5 X7 est:
15 6 14 5
@712 (b) 35 © 15 d) 15
L _ 6 2
22) La division de deux fractions 14 7 est:
42 3 7 12
(@) 55 (b) 5 © 15 (d) 5g
23) La somme des deux nombres 998,2 + 124,9 est:
(@)1123,1 (b) 112,31 (c) 11231 (d) 1,1231

24) La soustraction des deux nombres 154,3 — 48,7 est:

(a) 114,4 (b) 105,6 (c) 1,56

(d) 1144

25) La multiplication des deux nombres 578,32 x 0,1 est:




(a) 57832 (b) 578,32 (c) 57,832 (d) 5783,2

26) 203,4 + 6 =
(a) 3390 (b) 33,9 (c) 3,39 (d) 0,0039

27) Choisissez la réponse proche a I’addition (4 370 + 5 390):

(a) 9 000 (b) 9 500 (c) 10 000 (d) 11 000

28) Arrondissez au million le nombre 27 162 839:

(a) 27 000 000
(b) 27 100 000
(c) 27160 000
(d) 27162 000

29) La partie ombrée dans la forme correspondante est égale a:

SOOOS

(2) 10 % (b) 20 % (€) 0,4 (d) 0,8

30) 0,03 = covvvoor, %
(2)0,3 (b) 3 (c) 30 (d) 97

31) Dites pourquoi le nombre 78 est divisible par 3?

(@) Le chiffre d’unité est impair

(b) 78 est un nombre impair

(c) Le nombre est a deux chiffres

(d) La somme de deux chiffres est divisible par 3

32) Choisissez la phrase mathématique incorrecte:

(a) 36 x 17 =17 x 36
(b) 36 + 17 =17 + 36
(c) 36 — 17 =46 — 27
(d) 36 +17=17+36

33) Le cheval consomme 12 kg par jour.
Combien de kg se nourrit-il par année ?
Donnez I’arrondi au millier.

(a) 3 000 (b) 4 000 (c) 5000 " (d) 6 000

34) 107 étudiants ont fait un voyage dans une ville arabe, de combien de bus le




voyage a-t-il besoin, si le bus peut accueillir 25 étudiants?

@4 (b) environ 4

(c)5

(d) environ 5

35) Choisissez la bonne réponse dans les

deux montres:

Montre (2) Maontre (1)
Montre (2) Montre (1)

a 10:20 12:40
b 11:20 01:40
c 04:50 08:05
d 04:10 08:04
36) 2 heures = ........... minutes

(a) 60 (b) 120 (c) 3600 (d) 7 200
37) 5 metres = ........... cm

(a) 500 (b) 50 ()5 (d) 0,5

38) Lkg=.couenn g

(a) 0,001 b) 10 c) 100 d) 1 000

39) L’angle coloré en jaune est un angle:

(a) angle plat (b) angle obtus

(c) angle aigu

(d) angle droit

40) Précisez les deux droites paralléles:

a) b)

\
_—

c)

~

d)

/

/




() a) (b) b) (©)¢) (d) d)

41) La nature du triangle est:

60° 60°

(a) isocele (b) semi-équilatéral (c) équilatérale  (d) rectangle

42) Dans la figure, deux triangles identiques ont été collés pour former un triangle
plus grand.
Quel type de triangle est produit pour ses cotes?

A h-

(a) Triangle equilatéral

(b) Triangle quelconque

(c) Triangle rectangle isocéle
(d) Triangle isocele

43) La nature de ce quadrilatére est:

(a) carré (b) losange (c) rectangle (d) parallélogramme

44) Choisissez le losange parmi les figures suivantes:

s
<= v

L
o
A

H

o’ )
< %

Figure (3) Figure (2) Figure (1)

N A

A
A




(a) Figure (1)  (b) Figure (4) (c) Figure (3) (d) Figure (2)

45) L aire du rectangle de dimensions 3 cm et 5 cm est:

(a) 8 cm? (b) 15 cm? (c) 16 cm? (d) 64 cm?

46) L’aire de la partie hachurée est plus proche de:

- 13cm ———

1cm
2cm
(a) 100 cm? (b) 90 cm? (c) 80 cm? (d) 70 cm?
47) Le rayon d’un cercle de diametre 4,5 cm est:
(@) 2,25 cm (b) 4,5cm (c) 9cm (d) 9 X mcm

48) Le segment joignant deux points du méme cercle est un:

(a) corde (b) rayon (c) diameétre (d) tangente

49) Complétez la suite suivant: 475, 500, 525, 550, ...

(a) 555 (b) 560 (c) 570 (d) 575

50) Complétez I’expression numérique suivante: 850 + 400 = 750 + .......




(a) 300 (b) 450 (c) 500 (d) 1250

51) Complétez I’expression numérique suivante: 850 — 400 = 750 — .......

(a) 300 (b) 450 (c) 500 (d) 1250

52) Complétez I’expression numérique suivante: 6400 ~80 = 640 + .......

(a) 8000 b) 800 c) 80 d) 8

53) Calculez, en respectant la priorité d’opération: 6 + 9 +3 -3 = .......

(@) 2 b) 6 ¢)7,5 d) 15

54) Calculez, en respectant la priorité d’opération: 15—-2x5+5=......

(a) 70 b) 10 c)5 d)0

55) L’aire du carré de cOté x est:

(a) b) 2x d) x?
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